BT AL b L— R 2 EHE
g
M7 B W5 5 1L e 2B 1 T AT

7 PNEILR
NN 3 ey
Val— T = HNNT—H
SR TE Ao A =8 o— 2
. K ORI K AR = — R
5k A JE— AL — i 1502m
T4 =y 1213m
BHZEAE i B KoL i 7 289m
FETHF— 3 No. SAJ29-GS-50/91
a—2k w2 — 5Lz
HIERE - A - AR
HiEH - B - %=
HiEH - C - e
e ER 43 (42) A K — IR 9:30
KA EY Hard
AB—F/T 4=y v aKi -1.8C / -0.2C
F=980
AL Ap=h = EEEE oM ==
No No K4 B 4 RA B
1 4 oy =Y i) Frl Y 1:05.83 0.00
2 24 INE e T2 —He 1:07.07 18.46
3 5 Zill E1 T2 —He 1:09.15 49.42
4 8 wEl B R —e 1:09.76 58.51
5 3 NE B HHRAR—Y < 1:10.34  67.14
6 7 MR AET Y N BEEN 1:11.08 78.16
7 1 | S BEEAX e 1:11.24 80.54
8 2 JBOLE FrlL Y 1:13.45 113.44
DID NOT START 1
6 i K B 2R — A
DID NOT FINISH 0
DISQUALIFIED 0
2017-03-18 / IFB DX A X —1 G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETI KO



BT AL b L— R 2 EHE
g
M7 B W5 5 | L e 2B 1T AT

B¥ PNEIL
NARARE TR
Val— T = hINT—H
R fH  =ER a— 24
KO K AR = — R
5k ‘AR 1E— 2 & — HiE 1502m
T 4=y a s 1213m
BEZER i B = 289m
AET S — 3 No. SAJ29-GS-50/91
A=Ay H— M Bk
AIESR - A - AR
AIEH - B - %=
AiESR - C - e
e ER 43(42) A K — R 9:30
KA Ei E4= Hard
A=/ T 4=y V2 KR -1.8°C / -0.2°C
F=980
JIEfE Ap=h = ERE B M L—X
No No K4 B 4 RA b
11 B ARG BEHAX - 1:01.45 0.00
2 23 DAt INGIN S| - 1:03.84 38.12
313 FH A L Ax—He 1:03.99 4051
4 14 IHE s Y g 1:06.37 78.46
5 9 s FrlL Y 1:08.76 116.58
6 18 NP R o—% 2 1:09.22 123.92
7 19 il BEtLtEAX—HE 1:10.51 144.49
8 15 Hf R 2 XX 1:10.76 148.48
9 17 AR # EtHiAX—WHe 1:11.57 161.39
10 20 BN HEZ o—% A 1:14.45 207.32
11 16 TE 3% Y~ IR E 1:15.26 220.24
12 10 H A% AR X 1:17.44 255.01
13 21 Y EE Y NFSTE 1:19.17 282.60
DID NOT START 2
12 HH R AR ¥
22 INE T3 WERAR—Y <
DID NOT FINISH 0
DISQUALIFIED 0
2017-03-18 / 1FHE D X FEA X —; G8/ 1

DATA PROCESSING by SE I KO TIMING by SETI KO



BT RARA v R L— 2 258
o g
Mg B W5 5 | L e 2B 1 T T

7 KAz
NARARE TR
Tal— T = HIT—H
SR TE Ao A =8 a— 24
FrOARTEK[A)fiE = — 2
F5E A JE— A B — hHiE 1502m
PEE=DAES: ) 1213m
BHZEAE i B = 289m
AEB S — 3 No. SAJ29-GS-50/91
a—2t v X — [l v
AIEH - A - AR
AiEH - B - %
AIEH - C - N
AiESR - D - (LH
TR 44(41) A K — | RFRE 10:50
KA HAL EH Hard
AH—K/T7 4=y v a KR -1.1°C / 0.2C
F=980
AL AB=h -b EEE K M ==
No No K4 B 4 RA B
1 6 R ER Fxl Y 1:11.59 0.00
2 24 /N EAE BLEiA X —He 1:13.33 23.82
3 5 AIEESS BT AR — A 1:15.18 49.14
4 7 wE) R B AR —e 1:15.48 53.25
5 2 I\ 4 A 2R — A 1:16.71 70.09
6 3 INE S R A R—Y < 1:16.81 71.46
7 8 MR AKET Y N BEEN 1:16.84 71.87
8 1 L FrlL Y 1:20.02 115.40
DID NOT START 1
4 R R R AR — e
DID NOT FINISH 0
DISQUALIFIED 0
2017-03-18 / 1FHE D X FEA X —1; G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETI KO



BT hARA v L —2 238,
52k
iy B V2 o (L 7 PR BT

B¥ PN
INVE T B
Vall— T = INNT—H
Hfr R fHE AR a— R4
KO K AR = — R
57 B F— A M — | HiE 1502m
T4 =y 1213m
BEEEE i EHiE 2 7 289m
FEOHF— 3 No. SAJ29-GS-50/91
a— Aty H— LT v
AIEHR - A - AFF
AiES - B - %=
AIEH - C - N
AiES - D - (L H
HEFER 44(41) A B — R 10:50
KA Ei E4= Hard
AB—N/T 4=y V2 KR -1.1°C / 0.2°C
F=980
JEfE Ap=h = EEE B oM L—x
No No K4 fr B 4 ARA > b
113 B ARG BEHAS—WHE 1:07.28 0.00
2 22 DAt INGIN S| I = S G 1:08.73 21.12
311 FH A BEHAS—HE 1:09.52  32.63
4 15 IHE s Y g 1:12.96 82.73
5 17 LhE 3 Y~ IS E% 1:13.14 85.36
6 10 RO FylLvy 1:13.88 96.14
7 18 i BEtLtEAX—HS 1:15.50 119.73
8 21 NP R o—% A 1:16.00 127.02
8 12 He 5 AR X 1:16.00 127.02
10 16 A s TFrHAX -2 1:18.49 163.28
11 20 B HEZ o —% A 1:19.40 176.54
12 9 H A% 2 XX 1:21.79 211.35
13 19 Y EE Y NFSTE 1:21.89 212.81
DID NOT START 2
14 A e AR
23 NEC T3 HRAR—Y <
DID NOT FINISH 0
DISQUALIFIED 0
2017-03-18 / 1 FBD X FERX—5 G8/ 1

DATA PROCESSING by SE I KO TIMING by SEITI KO



